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General Instructions :

(t)

(1)

(iii)

(i)

(v)

(v)

Question paper contains 37 questions. All questions are compulsory.

Question paper comprises six Sections— A, B, C, D, E and F.
Section A — Question Nos. 1 to 20 are MCQs of 1 mark each.

Section B — Question Nos. 21 to 24 are Very Short Answer Type
Questions, carrying 2 marks each. Answer to each question should not

exceed 40 words.

Section C — Question Nos. 25 to 29 are Short Answer Type Questions,
carrying 3 marks each. Answer to each question should not exceed 60

words.

Section D — Question Nos. 30 to 33 are Long Answer Type Questions,
carrying 5§ marks each. Answer to each question should not exceed 120

words.

Section E — Question Nos. from 34 to 36 are Case Based Questions with

three sub questions and are of 4 marks each.

(vit) Section F — Question no. 37 is Map based, carrying 5§ marks with two

parts, 37(a) from History (2 marks) and 37(b) from Geography

(3 marks).

(viir) There s no overall choice in the question paper. However, an internal

(ix)

32/1/1

choice has been provided in a few questions. Only one of the choices in

such questions have to be attempted.

In addition to this, separate instructions are given with each section and

question, wherever necessary.
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1. SHfET % w5y 6 feffiga fagwast o 39 ggw & gy fiem hifse st g4
Trehed o1 T3 il

IENEGI e
a. g SR I  wEel
b. -V e II. g hl dam
c. IHWA f I ATl III. wifs
d. deER IV. 3eiel e
forepea

a b ¢ d
A I I IIr Iv
@ I1Iv III 1 1II
C I 1 1v 1III
D) I 1v 1I 1

2. frafaRea o @ =9 @1 yge] . 3. et 31§ . quTET Arre % e |§ THH
o 7

(A) YRA § Sfq-oTewql W @@ forg T |

(B) Tfgetati & Sual 9T Yeh1el ST |

(C) HTE=hfeh foRTHd % TR H A&l SH |

(D) WA ol ITeh! TR Tad=Idl o foTe Iftd T |

3. fofafaa 4 9 foram i@ | ygt ogT 31 SeqTa S <Al € aToHT <6 ?
(A) I.IRE. A

(B) GRNIH T
(C) RS, =&

(D) orpterH
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SECTION - A
(Multiple Choice Questions) (20 x 1 =20)

1. Match the following attributes of allegory of Germania with its

significance and choose the correct option : 1
Attributes Significance
a. Broken Chains I. Heroism

b. Breast-Plate with eagle II. Readiness to fight

c. Crown of oak leaves ITII. Strength
d. Sword IV. Being free
Options :
a b c d
(A) I IT 111 v
B) IV 111 I II
©C 11 I v 11
(D) III v IT I

2. Which one of the following aspects was common between the writings of
B.R. Ambedkar and E.V. Ramaswamy Naicker ? 1

(A) Wrote on the caste system in India
(B) Highlighted the experiences of women
(C) Raised awareness about cultural heritage

(D) Motivated Indians for their national freedom.

3. Who of the following set up the first Iron and Steel industry in
India ? 1
(A) J.R.D. Tata
(B) Purushotam Das
(C) R.G. Saraiya
(D) Thakur Das
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4. fr=faRea = ST e § =afer Hif i gt faewe &1 =9 Fif
I  Sicd g8 are | ST=gH GgTehly <hl T |
1. i et 3 fir agl o < fgd fovage foer |
I11. R fmfar &7 wiE 3, Seared & fo  srmeef o wgfa’ & 3T |
IV. ofee sreferawensii 3 e &l ‘G-77 Ty’ % &9 & "rfsd o |
forereu
(A) IIL II, 13RIV
B) I, IIL III3WIV
(C) IV, III, II3mI

(D) IV, II, III 31

5. TrAfaRaa STeRI 31 S8 § BHA i T8=H hiINT 3R T foehed o1 == HIfT :
o % H( TEH HEW@U S I HHA 2 |

o TWEHHBEAR

o TH I % foTu 33 HiEm 3R ek o ford Raeft g <t smmarwrerar gt 2 |
o 3T 7T 50 & 75 cm aTfieh Tt Y 3TawEHaT B R |

forereu

A M

(B) TE

(C) =rad

(D) T
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4. Arrange the following in chronological order and choose the correct option : 1

1. The Bretton Woods conference established the International

Monetary Fund.
II. The Second World War broke out between the Axis and Allied
groups.

III. A car manufacturer Henry Ford adopted the ‘Assembly Line Method’

for production.

IV. The Western economies organized themselves as a group — ‘The
Group of 77.
Options :

(A) TIILII,Iand IV
(B) I IL I and IV
(C) IV,IIL Il and I
(D) IV, IL I and I

5. Identify the crop with the help of the following information and choose the

correct option. 1

. This is the second most important Cereal Crop.
. This is a Rabi crop.

. It requires a cool growing season and bright sunshine at the

time of ripening.

. It requires 50 to 75 cm annual rainfall.

Options :
(A) Wheat
(B) Maize
(C) Rice

(D) Sugarcane

32/1/1 1> E’%’E P.T.O.



6. Trmforfaa usal @ & fopam qrvgy o fRa @ 2
(&) e
(B) A
(C) 3Ty ™
(D) HAeh

7. FreAfoRen & H o W gifer 2 7
(A) VellgHer — T 1 HeH
(B) wrefiga - fewe &
©) yhuer - g EwR
(D) AN T — TEEIAT &

8. fommferiaa aui d & fopuehl ‘S0 o g GuTfer 31y Garieres  ?
VLIS
(B) dieiew
(C) wrd
(D) OIRETH

9. fr=ferRaa deermi 8 & S A1 YR § U Haeht 31fehs IUcisd a1 g ?
(&) T wifereh e
B) i
(O) T gET by
(D) Ik FaT IR
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6. In which of the following States Tungabhadra Dam is located ? 1
(A) Tamil Nadu
(B) Kerala
(C) Andhra Pradesh
(D) Karnataka

7.  Which of the following pair is correctly matched ? 1
(A) Alluvial Soil —  Gangetic Plain
(B) Black Soil —  Himalayan Region
(C) Arid Soil —  Western Ghats
(D) Laterite Soil —  Desert Area

8.  Which of the following countries has the highest ‘Life Expectancy’ at the

birth ? 1
(A) Nepal (B) Bangladesh
(C) India (D) Pakistan

9. Which one of the following organization is providing data regarding

employment in India ? 1
(A) National Statistical Office

(B) Niti Ayog

(C) National Informatics Centre

(D) Public Service Commission
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10. fr=fafaa & & = @1 sgugh Sut o foe v Y@ oy ], 9 98 U T S
T HYH ScATE T hIH Hicl B ?

(A)  TgUER o, TT Huft & |1 TeiaH dehieh aTeI Ll B |

(B) wEUEHE Ut Icuted o aeft UTEet 3T Hd 7 Ll B |
(C) < EUEHR Hut U FEATA ifel sl THIT U1 o T1 AT LAl B |

(D) < EULHE Hut T Hufi o =1 3T 3R ITiETies TeY S 2 |

11. frafifea § & =i w1 e gafa 2 7
(A) wuftes &5 —  TEIW
®) fafow s - @l
(C) qAEH &h  — bl R

(D) =g &Fh — =

12. 94 <ifse fe we &3 4 9r qfEer 2 3 s9h 71 3™ 10,000, T 20,000,
% 30,000 3R T 40,000 &t & 61 3w 31 fehat arft ¢ fe & @ wiet foehed g -

(A) % 25,000
(B) % 30,000
(C) % 20,000

(D) % 10,000
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10. Which one of the following is a major benefit to an MNC when it works on

joint production with a local company ? 1
(A) MNC shares its latest technology with the local company.

(B) MNC decides all parameters and prices of the product.

(C) MNC shares its institutional policy with local company.

(D) MNC built good and familial relations with the local company.

11. Which one of the following pair is correctly matched ? 1
(A) Primary Sector — Fishermen
(B) Secondary Sector - Priest
(C) Tertiary Sector - Basket Weaver

(D) Quaternary Sector Gardener

12. Assume there are four families in a locality. If the monthly income of each
family 1s ¥ 10,000, ¥ 20,000, ¥ 30,000 and ¥ 40,000, then what is the
average income of the locality ? Choose the correct option from the

following : 1
(A) 25,000
(B) ¥ 30,000
(C) % 20,000

(D) % 10,000
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13. hIdl Ush AT | i il 2 | 98 Fafid &9 8 wdd & 37d 8 dad IH wdl 8 | ddd
JTSTET 30 TR g Ferifia et & s giaemd firerdt € |

i Frferfad o & form & § R F T R 7
(A) Tfa &
(B) 3r@Tiad &k
(C) e &=k
(D) =g &

14. Tr=faRea § 9 9 |1 30 &1 sig=ni @a g ?
(A) fder
B) I

(C) HEHR
(D) ugwrl Afifa

15. oal s gear W feferlea swemt w foam hifse 3t a8t faswed 1 == Shifs
I. g cliohdd <l Holgd Hidl 8 |
II. 38 | THE! o st Tod ol HH T2 |
1. =g Us-ifaes ferar = ghfaa s g |
IV. I8 el & o ammferes — smfefes e ofmar 2 |
ferepeu
(A) I, II 3R III
(B) II, ITI 3 IV
(C) I, III3RIV

D) I II3RIV
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13. Kanta works in an office. She gets her salary regularly at the end of every
month. In addition to the salary, she also gets other benefits laid down by
the government.
In which of the following sector Kanta is working ? 1
(A) Organised Sector
(B) Unorganised Sector
(C) Primary Sector
(D) Quaternary Sector

14. Which one of the following is a formal source of credit ? 1
(A) Relative
(B) Trader

(C) Money lender
(D) Cooperative Society

15. Consider the following statements on Power Sharing and choose the
correct option : 1

I. It deepens democracy.

II. It helps to reduce conflicts among social groups.
III. It is a way to ensure political stability.

IV. It brings socio-economic struggles.

Options :

(A) I ITandIII

(B) II, IIT and IV

(C) L IIT and IV

(D) T, 1 and IV

32/1/1 {13 > E’%’E P.T.O.



16. = g1 e, Afihua (A) 3R #RoT (R) few mw & | et =l ufgu 31t a8t fashed &
Wﬁﬁﬂl:

atRreRem (A) : T Alshd T STCATR |

HRUT (R) : AT Tifereh Arfier w1 foedR o6t 2 |

fremea

(A) (A) 3 (R) gl &2l € 3 (R), (A) A ot e 2 |
(B) (A) 3R (R) gl &l €, W (R), (A) %! el =Te & 2 |
(C) (A) =&t 2, Afeh (R) T 2 |

(D) (R) TeTd &, e (A) WE1 § |

17. &¥-A 3 &9-B =1 fiyem hifse 37t a2 faeres <1 === hifs

wWH-A w9 -B

(o) (Tt / Forer)
I 1. e
. g 2. wEEH
11, foaE 3. TAgH
IV, hEERER 4 e fow

A 4 3 1 2
B 3 4 1 2
©) 4 1 3 2

O 2 3 1 4
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16. Two statements are given below as Assertion (A) and Reason (R). Read

the Statements and choose the correct option :

Assertion (A) : Elections are the spirit of democracy.

Reason (R) :

Options :

(A)
(B)
(©)

D)

17 Match Column — A with Column — B and choose the correct option :

Elections expand Political participation.

Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) is the not correct explanation of (A).

(A) 1s true, but (R) is false.

(A) 1s false, but (R) is true.

Column - A

(Subjects)
I.  Defence
II.  Police
III. Marriage
IV. Computer Software
Options :

I IT 111
A 4 3 1
B 3 4 1
© 4 1 3
D)y 2 3 1

32/11
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Column - B
(List/Subjects)
Concurrent List
Union List
State List

Residuary Subjects
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18. frmfetRad o & i @1 THehIel favd  THehR 1 9ad oAk iya ®4 7 7 1
(A) dHTITE ThR
(B) Eaefes Teiaa
(C) &I THR

(D) AThdifeh TLHR

19. = gt e, Afipea (A) 3R #RoT (R) few mw € | et =l ufgu 31t a8t faeshed &1

= HITT : 1

aifirmem (A) : gfrn & fafira fowel o wfgamd wmfoa g3 oiv amm sifueri & fo tgem
TR |

HROT(R)  : W&l & AT 1 38T ARG ST TTETNEh Siad § Wt TH=dr o1
21

ferepea

(A) (A) 3 (R) <H1 781 € 31 (R), (A) 1 9 = 2 |
(B) (A) 3R (R) &1 &l &, Wg (R), (A) 1 Tl AT T 2 |
(C) (A) T&l 8, Wfrd (R) TeTa 2 |

(D) (A) TeTd B, wifehd (R) HE 2 |

20. Tr=ferfiaa 5 @ s |1 AT qiiEie Sl § Hefid T 8 7 1
&) foars
(B) g @
(C) forwa
D) fo=
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18. Which one of the following is the most popular form of government in the

contemporary world ?

(A)
(B)
(©)
D)

Dictatorial Government
Constitutional Monarchy
Military Government

Democratic Government

19. Two statements are given below as Assertion (A) and Reason (R). Read

the statements and choose the appropriate option :

Assertion (A) : Women in different parts of the World organized

themselves and agitated for equal rights.

Reason (R) : Women’s movement aimed at equality in personal and

family life as well.

Options :

(A)
(B)
©)
D)

20. Which one of the following matters do NOT deal with the ‘Family Laws’ ?

(A)
(B)
(©)

D)

32/1/1

Both (A) and (R) are true and (R) is the correct explanation of (A).
Both (A) and (R) are true, but (R) is the not correct explanation of (A).
(A) 1s true, but (R) is false.

(A) 1s false, but (R) 1s true.

Marriage
Adoption
Inheritance

Finance

@ E’E’E P.T.O.



21.

22.

23.

24.

25.

26.

TuE-@ (4x2=8)

(ctfa eyl weA)

(a) I H ETATETG hl AR ST & €9 H ST hIT | 2
AU

(b) 1848 H T o Thigeh TR o TUHAI h! AT 3T HMHINH Torad & ded o

SRS HIfT | 2
T Y i fopgl <1 feranati o1 Seer@ I | 1x2=2
foregl 2 TTaUTl <hl SaTEAT T STl WA bl Teh Y08t TS &1 2 | 1x2=2

ST Shifer foh 319 7m0 wa= & | fongl gt iafafert o1 gema §fe St s1aest & e 8

for TmenfERT <t 31 we™ o T fopu ST =nfRw | 2
[ ug — T (5 x 3=15)
(FTg -7 99A)
199 SraTec) o SR WA § TfHeh GUT T GE0T TERhId o SWTE] oh! ARG HITVT | 3

T TRl 3 Serdreiieh ST i fohd ehR wvTiad fepam & 7 Tom hife | 1x3=3
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SECTION - B

(Very Short Answer Type Questions) 4x2=28)
21. (a) Explain Romanticism as a cultural movement in Europe. 2
OR

(b) Explain Frederic Sarrieu’s dream in the context of democratic and

social republics in France during 1848. 2
22. Mention any two features of Plantation agriculture. 1x2=2
23. Explain any two provisions that make India a secular state. 1x2=2

24. Imagine that you are the village Head. Suggest any two activities that you

think should be taken up to increase the income of the villagers. 2
SECTION - C
(Short Answer Type Questions) (5x3=15)

25. Explain the implication of print culture on the religious reforms in India

during 19th century. 3

26. How has Information Technology affected Electronic Industry ? Explain.

1x3=3
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27. ‘fashre <t grofirdT < Te W Wi T fashm sl ufsR W g 90 e 33d @ | 3greon

afed sare i | 3
28. TSHIfdeh €1 o Tehgl i <1t bl s shifeu | 1x3=3
29. (a) WRAE e S & forgl i S/ ol T8 HIfVT | 3

AU
(b) I © TR I TS H5T o HaY H ofhi shi yfirehT shi = Hifv | 3
WUz -9 (4 x 5 = 20)
(el —3wim ua)

30. (a) WA hi 3MTRieh 3R Temifaes feafa W wum foava g o wumai o1 faveryo Hifs | 5

JAYA

(b) 19 Tt % 3nReT & Wi § UyaTe o foeht | wAisheheaq TR Teftehi <Al fireht
fergetor KT | 5

31. (a) ‘uer uitae o dred e forenrd 3g qd Sfdd € |’ 38 o I AT 3BT | 5

AYA

(b) “TgH UiEEd I URaET 6t 3T i Gaursyes g |7 39 HU Sl —AR—ETT
BT | 5
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27. ‘The question of sustainability of development raises many fundamentally

new issues about the nature and process of development.” Explain it with

examples. 3
28. Explain any three functions of Political Party. 1x3=3
29. (a) Explain any three functions of the Reserve Bank of India. 3
OR

(b) Explain the role of banks with regard to money which they accept

from the public. 3
SECTION - D

(Long Answer Type Questions) (4 x5=20)

30. (a) Analyse the implications of First World War on the economic and

Political situation of India. 5
OR

(b) Analyse the role of folklore and symbols in the revival of nationalism

in India during late 19th century. 5

31. (a) ‘Efficient means of Transport are pre-requisite for fast development.’

Justify the statement. 5

OR
(b) ‘Roadways have an edge over Railways.” Justify the statement. 5

32/1/1 {2 > E’%’E P.T.O.



32. (a) ‘0 g | diehad o o & foTu wilt wmeln @ 1 59 e Y 3gren wfgad gfE
HIT |

AYA

(b) “<lrepaa @t gmTioes -3l 3 TorHifoes THE3T T THTEH L Teohal1 & |7
Teht Afed 39 o 1 g Hifu |

33. (a) YR H TSRO & JHTE o fagaiwor i |
Jreran
(b)  STeteRL o fysqer S o dlient o1 fergetor Hifv |

T E - T B x4=12)
(SRE STeniE 9e)

34. fewww N i ufeu 3R g A= fow gl 1 3o fafag
FEgat o fore AR

T IUIRT UeT A 1 Teh dlient fagoHl &1 8 | 91 fop 319 SHq 2, fasmo fafi=
IcUTel ! Sl 3T AT ST & B | 9 ST ) T weet & 8 S Tt shed et o
24 2 | 1 gu Uk Ul gfen # ¥ ol Rl e fsee o gu | sreeri, gt
Bifdm, G, eefifest & e W, ge wg fommom BT gu # | wife 3 gn siogm o
I8 et e@ dl Ul =otar 3 o ftenfientor Y seama @ & fommoat 3 fafte saei &
TSI <l oA H 37 weh =it Susieht Teapfa T | 3roeft wiftrent famé 2 |

e ATeet & JEmuferEl 3 Wid # Shuet SeT I FhAT dl  uS o Sgell W eleel ol
d | ST T WIS I8 BIAT T Toh WG 1 U1 1 19 9 IcdTe shl S8 Udl It STl
oft | oiaet & <=l 6t e 1 Wik oft o1 | W TRl Sleet W HR el # BE 3
Taeet foran featg aan ot wiieri o wuer @lied o et atg o1 et T8 war v |

(34.1) 3TUSTH gRI YRA | I&q3i o1 s fopa wepr fopan Stra e 2
(34.2) 3NufATh W & A foRT=T o ATeaq & 9T ITHRRT H8 o 7
(34.3) 3T o S T o Aream 9 feu e Hesn <t =men i |
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32. (a) “There is an overwhelming support for the idea of democracy all over

the world.” Support the statement with examples. 5

OR
(b) “Democracy can address all socio-economic and political problems.”

Support the statement with arguments. 5

33. (a) Analyse the impact of globalization in India. 5
OR

(b) Analyse the ways to make globalization fair. 5

SECTION - E
(Case Based Questions) Bx4=12)
34. Read the given case and answer the questions that follow : 4

Market for Goods

One way in which new consumers are created is through
advertisements. As you know, advertisements make products appear
desirable and necessary. They try to shape the minds of people and create
new needs. Today we live in a world where advertisements surround us.
They appear in newspapers, magazines, hoardings, street walls, television
screens. But if we look back into history, we find that from the very
beginning of the industrial age, advertisements have played a part in
expanding the markets for products, and in shaping a new consumer
culture. When Manchester industrialists began selling cloth in India, they
put labels on the cloth bundles. The label was needed to make the place of
manufacture and the name of the company familiar to the buyer. The
label was also to be a mark of quality. When buyers saw ‘MADE IN
MANCHESTER’ written in bold on the label, they were expected to feel
confident about buying the cloth.
(34.1) How was the marketing of goods done in India by the British ? 1

(34.2) How were the new consumers created through advertisement
during colonial India ? 1
(34.3) Identify the messages conveyed through advertisements during

industrialization. 2
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35. feumu Hia @i ufeu 3Tk 3w A= fou ey o 3 fafew -
Tl HETET ST ERET0T
3nfefeh forehtd o foTu Ft weh SMERYT 3TTewTehdl 8 | TUEH ST o Yoieh Herel —
FN, T, qNEE, IMST I W] ATRRAIA i Iid o T Kol & o= 6
ERHAT 8 | TaAar-i s gaq frenfea smfies faesma i arsrnsti 6t 9] W

o ToTu Saatt St St W <t Srravrehd off | wereaEy R oSt § Hai o qeft SRRl 1 39
fR-dR a3 @2 |

39 sl 1 il & T % Taq awefa wnt & faefad e f gl sevEehan
B | Sl Gegur hl ATt 3R TefieRtofi St HH1EET R S@an YA Had 9l S & &t
IR E |

AT B A ova 6 STeqan Setee o | T ST 2 | &6 St o Efia seneH
o TG SUANT b FIC FTaT=gul SUNTH I BT | IeTetoned Teh STHT&eh AN
®Y T gH AT o 7 it oTa Y 31981 HTesTi-eh aTg- ol S9N Shich, STl ST = &
@ & @ faseht s e fagd a=d S aTe IuHT o FAT & 9UT R-IRafes Het
HTEHT < SR & gH 3791 BIel ANTEH ¢ Hohd & | STREHR Tl hl sod & Fett Iedie
2

(35.1) Had WU Hal Gad ok S Hofl FAT 8 7
(35.2) QWA H Foll <hl @ i 5g W8 ?

(35.3) “3oil Shl s &1 ol ohl IcdTeT @ |7 TE hife |
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35. Read the given case and answer the questions that follow : 4

CONSERVATION OF ENERGY RESOURCES

Energy is a basic requirement for economic development. Every sector of
the national economy — agriculture, industry, transport, commercial and
domestic — needs inputs of energy. The economic development plans
implemented since independence necessarily required increasing amounts
of energy to remain operational. As a result, consumption of energy in all
forms has been steadily rising all over the country. In this background,
there is an urgent need to develop a sustainable path of energy
development. Promotion of energy conservation and increased use of
renewable energy sources are the twin planks of sustainable energy. India
is presently one of the least energy efficient countries in the world. We
have to adopt a cautious approach for the judicious use of our limited
energy resources. For example, as concerned citizens we can do our bit by
using public transport systems instead of individual vehicles; switching
off electricity when not in use, using power-saving devices and using non-

conventional sources of energy. At last “Energy Saved is energy produced”

(35.1) Why is sustainable energy a key to sustainable development ? 1
(35.2) Why is consumption of energy rising in all over India? 1
(35.3) Explain ‘Energy saved is energy produced’. 2
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36. feu u gia =i ufeu 31 3ges A= few o gra yea1 1 3o ferflge 4
WRA | ke

e hg 3T TT GThR F ThAT diehd AT TR bl & SITdt @ o 38 9T <l
ferchgiehtor e @ | farehgiontor o i gt |\ a8 2 fob 31 gei 3t gmenati
e T ) W€ Sfean &1 9 8 Gehal 8 | QT k] 3799 3cATeh ohl THENSAT hi
SR UL B 2 | AT S 39 &1 1 i 3T SRR BId1 & 9 Y91 Sal @ R S
3R <A 1 A1k Hurerar & IuAT fohe atg foRem ST TehdT @ | Sk STETTET TR T
G AR ! Bl § e qrfieR §9MT W S9e 8 ST @ | S99 AlhdiiEes Yriier shi
3Ted USdl 8 | T R <hl TATHT T-3MHT o Slehdii=eh Hgid ol ariieieh s

&1 g8 37T dhT & |

Torehdientur <t St BAR Efae # ot iR 1 18 | 3He o1 ¥ Tl 3T @k
T T G o Torehgiehtor <l o3 ISl 55 & | Ot TUswil | 7T o TR W UM g=mRdt 3
W& H TRATAeRT3T shl TG <1 T8 off | 9T 38 UsT HLahi o @8 fmor & @

o |
(36.1) <iiehad | “Tarchrgiehtor 1 TIE HIfT | 1
(36.2) <ehad | LA T8 & T ol T HIT | 1

(36.3) Torchdientur o foTu YA TThR g1 331U T feohrdl &l ST HT AV HIFT | 1 x 2 = 2

Qg - 2+3=5)
(vt enenfia weA)

37. (a) YNd o feu Tu ToHifas -t | g THET (A) 3R (B) & &9 H JAfed fay
M0 8 | &) TS SRR shl Gl 9 38 USHEIHT 30T Ik 99 Gkl T8 @i W
3o TE! 9 g | 2

(A) 98 T &l IR TR S0 1 31fraee fadew 1920 1 ga1m o |

(B) 9% T Jal HaTent el 3 ek S dler T |

EER
32/1/1 E’%’ﬁ



36. Read the given extract and answer all questions : 4

DECENTRALISATION IN INDIA

When power is taken away from Central and State governments and
given to local government, it is called decentralization. The basic idea
behind decentralization is that there are a large number of problems and
issues which are best settled at the local level. People have better
knowledge of problems in their localities. They also have better ideas on
where to spend money and how to manage things more efficiently.
Besides, at the local level it is possible for the people to directly
participate in decision making. This helps to inculcate a habit of
democratic participation. Local government is the best way to realise one
important principle of democracy, namely local self-government.

The need for decentralisation was recognized in our Constitution.
Since then, there have been several attempts to decentralize power to the
level of villages and towns. Panchayats in villages and municipalities in
urban areas were set up in all the States. But these were directly under
the control of State Governments. Elections to these local governments
were not held regularly.

(36.1) Explain Decentralization in democracy. 1
(36.2) Explain the importance of Local self Government in democracy. 1

(36.3) Describe any two steps taken by Indian government for
decentralization. 1x2=2

SECTION - F
(Map Based Questions) 2+3=5)

37. (a) Two places (A) and (B) have been marked on the given outline political
Map of India. Identify them with the help of given information and
write their correct names on the lines drawn near them : 2

(A) The place where the session of INC was held in September, 1920.
(B) The place where Mahatma Gandhi broke Salt Law.
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(b) R & 3 War-vmkE w F=fafad o @ f6 9 =1 3w fogi @ guisd 3k
mé;:rrqi%iﬁgq: 3

() dupsarg
(i) TR 9T o
(iii) O FFAI TSI qTeh

(iv) IETT A v

e : Hae givafem wlenfit & fore ww v 37 F W W E | (G x 1=5)
foregl e wea! o IR i

(37.1) 39 TT &1 A iR Srgt vyt g s o stfeasH fder, 1920 # g3 o | 1
(37.2) 38 U o1 A1 ferfaw St mefisft 3 ek 1 arel | 1
(37.3) 3T TIM T M TIRGT ST&T Tttt siiey fra 2 | 1
(37.4) 39 TT 1 I forRaw sref arrqe awm] g fea 7 | 1
(37.5) 39 UA o1 T TARaT &1 qut AiFeara Caiers areh ferd 2 | 1
(37.6) 39 T &1 A1 forRaw Srgt wrrgiv agesl va- fem 7 | 1
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(b) On the same outline Map of India, locate and label any THREE of
the following with suitable symbols : 3

(1) Hirakud Dam
(11) Tarapur Atomic Power Station
(111) Pune Software Technology Park

(iv) Paradip Sea Port

Note : The following questions are for Visually Impaired
Candidates only in Lieu of Q. No. 37. (bx1=5)

Attempt any five questions :

(37.1) Name the place where the session of INC was held in September,

1920. 1
(37.2) Name the state where Gandhiji broke Salt Law. 1
(37.3) Name the place where Salal Dam is located. 1
(37.4) Name the state where Tarapur Nuclear Plant is located. 1
(37.5) Name the state where Pune Software Technology park is located. 1
(37.6) Name the state where ‘Paradip’ Sea Port is located. 1
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